Efficiency vs P,

~ 0.7
o

[
>
>
Q
c
[

8
E

3]
0.06

Ratio

= 0.2
N L

0 S S
0.16F
0.14F
0.12F
0.1+
0.08H

<)
c
L

L
=
)

Ratio

0.09
0.08
0.07

0.05]
0.04
0.03
0.02
0.0

10l

Ty

[y

0.9

0.8

=
o
iN

1 10 o, el

—=— DQM_TT__MKFIT_ORIG

—— DQM_TT__MKFIT_MODIF

0.06)
0.04
0.02

Vel

[y

o
©
a

+
+
+
>«
> o
+
+
» o
» o
>4
> o
+
» o
+
+
> s
> o
$

|
Q[T T

-2 -1 0 1 2 3

Efficiency vs ¢

s 0. : " T T T T
2 S
T S S
0.08F -~ P P P e
SRS USSR NN S
V5 UNNE S RS SUSS FRTIS
1751 RS S e 8 -

)
c
.0

2
b=
)

Ratio

0.04F]- OO S
0.03?- :
of b il
A
e N R R

TP @



	Contents
	Page 1


